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T=(273.16K ) (<)
X3
T:(273.16)(2—55)
T=136.6K
T =T-273.15°
T.=136.6—273.15=—136.5°C
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AL=LoAT
AL=33%(23x10"°)x15=0.0114m=11.4mm
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AV=VBAT
AV=50x%(3%x29%10"°)x(60—30)=—0.13cm’
V,=V+AV=50-0.13=49.87cm’
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Q=mc AT
314=0.030X cX(45—25)>c=523J/kg. K
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M
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Q,=mcAT=mx4190(50—100)=—mx209500

Q,=mL,=150x333 k =49950000
Q;=mc AT=150%4190% (50— 0)=31425000
Q,+Q,+Q,=0
—mx209500+49950000+31425000=0
m=388g
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Q=mL,
50.2kJ=m333kJ/kg
m=0.150kg=150g
m_, 5, =260—150=110g
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Q,=mcAT=0.130%236 x(1235—15)=37430]

Q,=mL;=0.130Xx105x%10’=13650J
Q=Q,+Q,=37430+13650=51080 J=51kJ
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W=-200J

Q=-70.0cal =—70.0 X4.186=—293]
AE,=Q-W=-293—(-200)=—93J
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